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" Question numbers 1 to 8 carry 1 mark each. For each question four alternatives
choices have been provided of which one is correct. You have to select the correct

i/‘ choice.
(81) Y% x Y81 =t WlewaH WA ¥
(A) 9 (B 3 ) 1 Dy 0
The simplified value of (81)"7* x 481 is:
(A 9 B 3 c) 1 Dy 0
(A) O | 1 ) 2 oy 2
J2 is the polynomial of degree :
(A 0 B 1 ey = (D) 2
\}// w&p(szax}—zxz—ﬁﬁ?r,'Lﬂp{ai}arm%:
(A) —2 (B) 1 < 0 (D) 6
If p(x) =3y’ = 2" — x+4 then p{— 1) is equal to
(A) -2 (B 4 iy 0 ) 6
L .
W (B M) TR
(A) 42 ® % () %,; (D) 9
(ﬁ + yﬁr is equal to :
@) 2 ® % © Y5 D) 9
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(A) 137 (B 17 (C) 43° (D) 47
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1f pllg then x is :

43°
% P
o \ »q
I
(a) 137° (B) 117° Cy 43 (D) 47

qfe AXYZ, B 2Y > X 3XY =13 em, TXZE :

(A) 8Sem ° (B) 9cm © 135em (D). 13om
If in a triangle XYZ, £Y > #X and XY =13 cm, then X7 is:
(A) Beom (B) 9.cm (C) 135 cm (L 13 cm

afz uF Tog y-oel w Foners o 1 qwtEg 9 3 3R w5 gl w e, dl g % s €
@) (0.3) ® ©-3 ~ © G0 @) (-3,0

If a point is on negative side of y-axis at a distance of 3 units from origin then, the
co-ordinates of the point are :

(A)  (0.3) (B} (0.—3) © (3.0 )y (=30

s fag & FEwiw (- 2,5) 8 @ sl 3w A T

(A) 23%E (B)  —33F0 © 29w (D) 23
Co-ordinate of a point are (— 2, 3). Its distance from x-axis is
(A) 2 units (B) -3 units () — 2 units (I3 3 units

H=Ho=-49 /SECTION-B
WY HWEAT 9 | 14 7 Uddds o 2 3 T
Question n}imbcm 9 to 14 carry 2 marks each.
Hedd =9 1 1=y
845 + 2/50 — 3147
Write in simplest form :

8.J45 + 250 — 3./147

k 1 T T 9 I B (x— 1) 5+ 40" — 6 + 2k T T TOHEIES 7 S

Find the value of k, such that x — 1 is a factor of 5¢ + 41" —6x + 2k

TorETE ey —125 oy

Factorise x'—125 Jt'ff1
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Fadusammdmfig A pelicammrEfrpai fafaaCF g a8 fug
S fa AB+BC=AC 1

St - t—

A B C
In the figure, if A, B and C are three points on a line and B lies between A and C, then

prove that AB+ BC=AC.

A B C

P93 5 ZAOC A /BOC U et Yl AB AW #1 A2 b=80° 2, &t a 48 b 7 7

A1 i |
o
5
3 B

In the given figure ZAOC and #BOC form a line AB, If a—b=8, tind the values of

aand b,
C
B g
O B
HEEr f OR

fos & AB, Cgaﬁarpﬁﬁiﬁrﬁ'ﬂigDWW%lx'fh'ﬂTFi et =RTfa |

In the given Egjurc AB, CD and E I are three lines concurrent at Q. Find the value of
E A

B F

T A 1 9RA 120 em 31 521213 F e § ¥ fasgs %1 A9%E 9
Fifau |

The perimeter of a A is 120 cm and its sides are intheratio5: 12 : 13. Find the area of
the triangle.
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Question numbers 15 to 24 carry 3 marks each.

ra A3 ¥
[T FHifere 5”L3«3 + 27 HJ
xlﬂzl’:?

3721 / OR
0235 FI % ¥ w9 0 = witay, FEfF p 37 T 5, gA0 E

Simplify : {5? [8% i 2?%

Express 0.235 in the form % where p and q are integers, q#(.

a 31 b &1 | Fld S0, SR
JZ + 3

S0 o

32 — 23

Find the value of a and b, if
2+ B

. =a+hfB.
32 -243
Ife 4x’ — 16x° + 10 x+ k T IOFETS 23— 1 €, 1 k F 41 70 S04

If7x—1isafactor of 4x' —16x° + 10 x+ k then find the value of k.
aTeaT / OR

Ay =2+ 6 A, a1 ¥* — 8y —36xy— 216 F A T HI9T |

If x =2y + 6, find the value of x - é:ly"’ - 36xy —216.

AG o’ + b* + ' =280 A ab+ be+ca= 94 €l (a+b+c) HHA G AT |

Fa +b+c= 280, and ab+bc4ca= “/-, , then find the value of (a+b+ r.‘}‘fi

Ife p 37 q THiaL @ §, T y &1 A FE I

/<5r — 38
it
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What is the value of ¥ if p and q are parallel to cach other.

3r—38

—.__'__P

2r+ 1)
4

NN |

GG/ OR
L/Eﬁ # APQR= PR T 1 g ST % 2PQS= /PRT 2| ,p 57 9ma T Fifam
EEi PDL =7 T

In l:ht1 given 113: ure, I’QR = 2RO, then prove that ~PQS=
ZPOR = 70°.

j?

ZPRT. Also find /P i

Haﬁ I’QH $1 S ORR = g s & fug SIS %6 PQ + QR+ kp - 2PS &1

% 15 am Point on Litt_ side QR of a tr
s

£

angle POR. Prove that PQ+QR+RP > 2ps.
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2" FE¥AB=CD, ZABD= /CDB R firg Fifo i AD - OB 31
[

In the given figure AB=CD, ~ABD - ZCDB. Prove that AD=CB.
D

‘72./ HFE ABCD H 195 E, W51 BC %1 Tz wel ?1 fag wifae fs AR =ED 1

i

A B

Ina rectangle ABCD, Eis a point which bisects BC. Prove that AL = E[3.
D C

T
e
sl

A B
23, BRERER CRaR e RS R T e — &) <RIV 39 2T o arfirpm
I AT e A 2 i¥Ta =it

“If a side of a triangle is produced, then the exterior angle so formed is equal to the
sum of interior opposite angles”. Prove it

24 =949 ABCD 1 frawe T Fifsw Fafs AB=7 ean, BC=6cm, CD=12cm DA =15
cmaﬂTAC--:Qcm%I 5

__.-r"-"

-
Fi%rea of the quadrilateral, ABCD where ﬂfi%n, EE%- =6em, CD=12cm,
DA=15cm and AC=9 ¢m.
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W WA 25 W 34 TF oA W 3 4 37 F

Question numbers 25 to 34 camy 4 marks each.

. SRR o
_-ﬂ-"p—j-_ “Faﬁz q—'j-rj——!——x;_- ?‘ﬁpz-} q?;"'ﬁﬁ?al-ﬂﬁm1
BB 47 J3— 7
\l'ﬁ = J?_- 3 + M'E 2 2
ff = ﬂ.nd = —m—— flﬂd 4+,
e T o e
HEET/ OR
1 1 1 1 1 "
Tolsefe - e 5
3-8 B—J7 T—J% —f5 - S5
. ! ! 1 I 1
Show that - — —— o —— = — = 5
-8 Ba—y7 T-46 o5 ' .52
3 3 3f
‘22 4fi-32 3+28
4.5 30 3.2
Sim Ilfi, o — —_— — "
P -3 aph —35 i: 23
TOTFFEYE FINT 2" — ¥ — 13x -6,
Factorise 2x”" —x°* ~13x — 6.
TR plx) = 20 ~3x" +ax—3a+ 9 ¥+ 17 WM 2T W I 16 2, T a & 9H 3

I 27 (o) F1 x4 2 @1 T fean g, @ e @ don 2

The polynomial p(x) = 22— 3% +ar—3a+ 9 when divided by x + 1, leaves the
remainder 16. Find the value of a. Also find the remainder when p(x) is divided by
x+2

R 6 2~ = (r— ) (Pt ey o+ o J}J' 216 x°— 125 ' & oFrEUE Fif

s Vr_rt!v Xy -“{'t:—u) 2 +xy+ y). Hence factorise 216 1* =325y

e S ABCD % @i ¥id A(1, 3), B(L, —1) (-1, —1) Tt 32 mw Ty
sTEfEa Fifew A7 o3 =19 ving Dﬁ#ﬁé‘w—cﬁaﬁ FHITSTT | 3170 1 2% o 7
hiferT |

Three vertices of a rectangle ABCD are A(L 3), B(1, — 1) and C(— 1, —1). Plot these
points on a graph paper and hence use it to find the coordinates of the 4% vertex D,
Also find the area of the rectangle.
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In the given figure, find the value of x and y if AB||CD.
1 =

ot

20F
. ¥
’<7Jy
Ca— 2, —s T
sae R

A ABC SR APQR % AB=PQ, AC = PR 3i ¥itd @e AM & pN & 1 agisu Fs
AABC = APQR &1
In A ABC and APQR, AB=PQ, AC=PR and altitude AM and I'N are equal. Show
that AABC = APQR.

IT9ET / OR
T =iy 6 < Pt wafmem 28 2, afs uen Bt % 21 o sl 399 it el THY
Fogst % <1 irvif 2 svet sfata won & = 2
Prove that bwo triangles are congruent, if any btwa angles and the included side of one
triangle are equal to two angle and the included side of other triangle.

P 1 ZBCD=2ADC 3R LACB= /BDA 1 =vizu 5 (i) AD=BC, (ii) £A= B ¥
A B

C B]
in the given figure, ZBCD = ZADC and #ACE = /BDA. Prave that (i) AD =BC,
(i) ZA = /B.
A B
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o3  RP=RQ 211t APQR &1 =31 QR, PR W M 2 N 39 43R § 5
QM =PN 21 fag =ifqu fF Op =00 & &t fig O, PM 31 QN %1 wia=se- fug 1

P T Q

In the given figure, RP=R0Q and M and N are respectively points on sides QR and PR
of APOR, such that OM =PN. Prove that OP =0Q where O is the point of
intersection of PM and QN.

~-ol}o-
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